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Question Number : 1 Question Id : 87827053770 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Match the following:

List| List Il
(A). Spinal poison (1}. Carbon monoxide
(B). Cardiac poison (11). Mercury
(C). Asphyxiant (11). Strychnine
(D). Nephrotoxic (IV). Aconite
1. (A) - (), (B) - (1), (C)-(11), (D} - (IV)
2. (A) - (I1), (B) - (IV), (C) - (1), (D) - (111}
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (l1}y
| )

4 (A) - (), (B) - (IV), (C) - (1), (D} - (I

Options :

878270211641. 1
878270211642. 2
878270211643. 3



878270211644. 4

Question Number : 1 Question Id : 87827053770 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

gt | & 91y gl 11 BT fHdH B

S5l il

(A). 7 fag (1). FTEA THIHEES
(B). §=T faw (I1). IR

(C). YTEELYE (). FEw=

(D). gaHias (IV). ThHEE

1. (A) - (1), (B) - (111}, (C) - (I1), (D) - (IV
2. (A) - (I1), (B) - (IV), (C) - (1), (D) - (Il
3. (A)- (1), (B) - (I1), (C) - (IV), (D) - (Il
4 (A) - (1), (B) - (IV), (C) - (1), (D) - (I

)
)
)
)
Options :

878270211641. 1

878270211642. 2

878270211643. 3

878270211644. 4

Question Number : 2 Question Id : 87827053771 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(A). Section 32, IEA (). Procedure of recording of Medical Evidence

(B). Section 45, IEA |(ll). Dying declaration

(C). Section 138, IEA|(III). Part of Mental Health Act

(D). Section 136, [EA|(IV). Opinion of experts

Choose the correct answer from the options given below:

1. (A) - (11}, (B) - (IV), (C) - (1), (D) - (N1}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1IT)

4. (A) - (I, (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270211645. 1
878270211646. 2
878270211647. 3

878270211648. 4

Question Number : 2 Question Id : 87827053771 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tt | ' 9y TGl 1| &1 e &

-l -l

(A). 4T 32, 3MasE (). Rifscreta ea & siftcas &1 wiba
(B). HIRT 45, STS5Y ((11). Heg B 9o

(C). YT 138, SMesE|(I1). AFRe @y HiHge &1 e
(D). ¥RT 136, Mesu|(V). fasest @t ™

-d fu TTe fadedl 9 981 3w -

1.(A) - (IN), (B) - (IV), (C) - (1), (D) - (Il1)
2. (A)- (1), (B) - (l1), (C) - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (111}
4. (A) - (), (B) - (IV), (C) - (1}, (D) - (1)

Options:

878270211645. 1
878270211646. 2
878270211647.3

878270211648. 4

Question Number : 3 Question Id : 87827053772 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-l

(A). Laceration |(l). Sharp cutting force

(B). Exit wound |(ll). Hard and blunt force

(C). Incision (1I1). Inverted margins

(D). Entry wound|(IV). Everted margins

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})
2. (A) - (D), (B) - (1), (C} - (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1T}
4. (A) - (I, (B) - (IV), (C) - (1), (D) - (1T}

Options :

878270211649. 1
878270211650. 2
878270211651. 3

878270211652. 4

Question Number : 3 Question Id : 87827053772 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1



Tt | ' 9y TGl 1| &1 e &
-l -l

(A). IR-FTS  |(1). e BT T
(B). A uma|(11). TR R $g 90

(C). =T (). oot Suia

(D). wa= g@ |(1v). Farfa saa

AT e A I TR SR
1. (A) - (1), (B) - (II), (C) - (1), (D) - (IV)
2 (A)- (1), (B) - |||} (C)- (1), (D) - (IV)
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (11}
4. (A) - (I, {E!ﬁ-l’l"u"# (C) - (1), (D) - (1)

Options:

878270211649. 1
878270211650. 2
878270211651. 3

878270211652. 4

Question Number : 4 Question Id : 87827053773 Question Type : MCQ Option Shuffling : No Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Density gradient of glass can be measured by

1. Benzene: Ethanol

2. Bromoform: Ethanol

3. Bromoform: Bromobenzene
4 Bromobenzene: Alcohol

Options :

878270211653. 1
878270211654. 2
878270211655. 3

878270211656. 4



Question Number : 4 Question Id : 87827053773 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

&g I 9-Tcd UdUIdl & A9 gR1 AU o 96dl &

do ST
THGIH: S
AIBH: S
ST sepied

=

AW N =
a

Options:

878270211653. 1
878270211654. 2
878270211655. 3

878270211656. 4

Question Number : 5 Question Id : 87827053774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a man made fiber

1. Nylon

2 Vicuna

3. Acrylic

4 Polyester

Options :
878270211657. 1
878270211658. 2

878270211659. 3



878270211660. 4

Question Number : 5 Question Id : 87827053774 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ofefaa 9 o g arg- g | st &

2. fagm
3 4?15.3.&5

4 Tifereeey

Options :

878270211657. 1
878270211658. 2
878270211659. 3
878270211660. 4

Question Number : 6 Question Id : 87827053775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
Which of the following is not an example of depressants

1. Amphetamines
2. Alcohol

3. Diazepam

4. Chlordiazepoxide

Options :
878270211661. 1
878270211662. 2

878270211663. 3



878270211664. 4

Question Number : 6 Question Id : 87827053775 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

P 3 S S 91 Saued! B e TR &

1. THbeHE

2. Hd

3. /WU

4 FARSHAVUGASS

Options :

878270211661. 1
878270211662. 2
878270211663. 3

878270211664. 4

Question Number : 7 Question Id : 87827053776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these is preferred as an antidote for opium poisoning ?

1. Naloxone
2. Belladonna
3. Atrophine
4. Nalorphine

Options :
878270211665. 1

878270211666. 2



878270211667. 3

878270211668. 4

Question Number : 7 Question Id : 87827053776 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

399 9 54 3wy fauraddr & uidfdy & 9 H adigdr <f 9idl 82

Ll

I
2SS
3. Tl
4 Araith=

Options:

878270211665. 1
878270211666. 2
878270211667. 3

878270211668. 4

Question Number : 8 Question Id : 87827053777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Who invented DNA fingeprinting

1. Alec Jeffery

2. Karl Mulleis

3. Karl Landstein
4. Edmond Locard

Options :
878270211669. 1

878270211670. 2



878270211671. 3

878270211672. 4

Question Number : 8 Question Id : 87827053777 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

ST R @1 anfaseR g+ feare

1. Qi WBd

2. BIc sy
3. P aawH
4. "'\-.:Eli'\_! Eai Wi

Options:

878270211669. 1
878270211670. 2
878270211671. 3

878270211672. 4

Question Number : 9 Question Id : 87827053778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is responsible for "Run amok” condition

1. Opium

2. Cannabis
3. Cocaine
4 Ethanol

Options :
878270211673. 1

878270211674. 2



878270211675. 3

878270211676. 4

Question Number : 9 Question Id : 87827053778 Question Type : MCQ Option Shuffling : No Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Fafafad 3 9 @ '3F oMie gRiyfa & fou Swedt 6

1. ABF
2 YA

3. Dl
4 3UATE

Options:

878270211673. 1
878270211674. 2
878270211675. 3
878270211676.4

Question Number : 10 Question Id : 87827053779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The cannabis product such as ganja is prepared from which part of the plant:

. Flowering tops
. Roots

- Stem

- Leaves

L

Options :

878270211677. 1



878270211678. 2
878270211679. 3

878270211680. 4

Question Number : 10 Question Id : 87827053779 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

2ol S HiT IedTE ®i Ui & b | T JgR foar o &:

1. gt =i
2. Hd
3. WY
4 gUf

Options:

878270211677. 1
878270211678. 2
878270211679. 3

878270211680. 4

Question Number : 11 Question Id : 87827053780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The autopsy Is performed on

1. Intestine

2. Head

3. The whole body

4. Only injured parts of body

Options :



878270211681. 1
878270211682. 2
878270211683. 3

878270211684. 4

Question Number : 11 Question Id : 87827053780 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

¥19 UETET g o1 o < &

1.3
2.’
3 9HEO TR

4 TR & $ad ggd YT

Options :

878270211681. 1
878270211682. 2
878270211683. 3

878270211684. 4

Question Number : 12 Question Id : 87827053781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which one of these is not included in the classification of hanging ?

1. Partial hanging

2. Complete hanging
3. Venous Congestion
4 Atypical hanging



Options :

878270211685. 1
878270211686. 2
878270211687. 3
878270211688. 4

Question Number : 12 Question Id : 87827053781 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

294 U B 91 BiY! & Fife0 § 9iifd 98] &

1. TTRIE Wi
2. quf G
3. IRTR® T@aq

Options :

878270211685. 1
878270211686. 2
878270211687.3
878270211688. 4

Question Number : 13 Question Id : 87827053782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Indented writing can not be observed by

1. Naked eye

2. ESDA

3. Electrophoresis
4. Microscopy

Options :

878270211689. 1
878270211690. 2
878270211691. 3
878270211692. 4

Question Number : 13 Question Id : 87827053782 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Eq(¥d 0@ @1 3adid- ¥ gRI g [ddl ol 9ol &

1. 993
8 é...p:."{—x:v d
3. dgdd DUl gda

4 GEHEEH

Options:

878270211689. 1
878270211690. 2
878270211691. 3

878270211692. 4

Question Number : 14 Question Id : 87827053783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The medico- legal autopsy is done by the permission of:

- Magistrate

- Forensic serologist
- Relatives

- Medical officer

L

Options :

878270211693. 1
878270211694. 2
878270211695. 3

878270211696. 4

Question Number : 14 Question Id : 87827053783 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

i aeg-fafte 2a wdieun 9 o1 oAk 9 fagr s

/J'LI_.'

1. e

2 BRY® SRA- &g
3. TaHl

4. Fafdodr TRt

Options:

878270211693. 1
878270211694. 2
878270211695. 3

878270211696. 4

Question Number : 15 Question Id : 87827053784 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

| atent fingerprint can be developed by

1. Neutron Activation Analysis
2. Casting

3. Electrophoresis

4 lodine fuming

Options :

878270211697. 1
878270211698. 2
878270211699. 3

878270211700. 4

Question Number : 15 Question Id : 87827053784 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Jeaad i Rfile &f g gr fosiad fear o1 9@ar o

1. 21 Ifesgu fggemu
2. Tdly

3. dggd Ul Ydo

4 HEIEH yad

Options :

878270211697. 1
878270211698. 2
878270211699. 3

878270211700. 4

Question Number : 16 Question Id : 87827053785 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The pattern having two separate and distinct overlapping loops are present with separate shoulders and two deltas. The
core forming ridges (core lines) of the loops open towards same side of the deltas. The pattem is known as:

1. Twinned loop

2. Lateral pocket loop
3. Central pocket loop
4 Accidental

Options :

878270211701. 1
878270211702. 2
878270211703. 3

878270211704. 4

Question Number : 16 Question Id : 87827053785 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

10U SR i o g et Qv T R 1 ST SRR 1 ORI 6 ) e e (@R ) Sl
& U & 0 ol o1 39 Uy Bl 3 & &0 H 7 o1l

1. fegfta T

2 T PleRa T
3. e DTN U
4 TSP

Options :

878270211701. 1
878270211702. 2
878270211703. 3

878270211704. 4



Question Number : 17 Question Id : 87827053786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is not a class characteristic of handwriting

1. Writing slant

2. Form of allelographs
3. Writing alignment

4 Embelishments

Options:

878270211705. 1
878270211706. 2
878270211707.3

878270211708. 4

Question Number : 17 Question Id : 87827053786 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fofaiad § 4 o9 1l g%dded &1 Ti-favdl el o

1 fode dwEq
2. TRcEA &1 Udh &4
4. FHEHI

Options :
878270211705. 1
878270211706. 2

878270211707. 3



878270211708. 4

Question Number : 18 Question Id : 87827053787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The region of hair located between two layers containing pigment granules, is known as

1. Cuticle
2. Cortex
3. Medulla
4. Shaft

Options :

878270211709. 1
878270211710. 2
878270211711.3

878270211712. 4

Question Number : 18 Question Id : 87827053787 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

quiE DB ael &l Rdl & o RUd Ja dl &3 Fg s Su s I e

1. SUcadl
2. TTaT
3. 7
4 YMEHIS

Options :
878270211709. 1

878270211710. 2



878270211711.3

878270211712. 4

Question Number : 19 Question Id : 87827053788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The contribution of Edmond Locard is regarding which of the following:

1. Law of probability

2. Law of progressive change
3. Law of exchange

4. Law of individuality

Options:

878270211713. 1
878270211714. 2
878270211715. 3
878270211716.4

Question Number : 19 Question Id : 87827053788 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

USHS didls &1 dneH FgfeaRad 7 O ferus faua 7 &

1. Guiidept &1 g9

2. yafaRiTa uivadd @1 Ha|
3. fafag @1 fHgg

4. qgfdamdr &1 HoH

Options :

878270211713.1



878270211714. 2
878270211715. 3

878270211716. 4

Question Number : 20 Question Id : 87827053789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The process of reading or interpreting the erased or obliterated material that is illegible, is known as

1. Decipherment

2. Detection

J. Efface

4. Lithographic process

Options:

878270211717.1
878270211718. 2
878270211719.3

878270211720. 4

Question Number : 20 Question Id : 87827053789 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Aot T AR Gl S S1ure &, 1 Ue 91 39e ! SureN B B uhd, 7Y & U A S ol
1. .u:!g 4

2 T

3. Tdeflu

4 TR Wi

Options :



878270211717. 1
878270211718. 2
878270211719. 3

878270211720. 4

Question Number : 21 Question Id : 87827053790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following is the sign of antemortem hanging ?

1. Lividity

2. Algar mortis

3. Dribbling of saliva
4 Vomit

Options :

878270211721. 1
878270211722. 2
878270211723. 3

878270211724. 4

Question Number : 21 Question Id : 87827053790 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

frofifad & 9 o a1 wrdy SR (geyd widh &1 Ydd 82

1. f=dufan

2 @R difed
3. TR @ Hg-Udlg
4. gad



Options :

878270211721.1
878270211722. 2
878270211723.3

878270211724. 4

Question Number : 22 Question Id : 87827053791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In respect to PCR technique: In a degraded biological sample, the longer the amplicon length

1. The higher the risk of failure in PCR

2. The lowest the risk of failure in PCR

3. The higher the risk of disturbing coding region

4 The higher temperature is required to get better result

Options :

878270211725. 1
878270211726. 2
878270211727.3

878270211728. 4

Question Number : 22 Question Id : 87827053791 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



o q-ic & Ty H: U uafla Hfaw T o, vl & e ol i@ gl

1. Tiom ¥ fowaa & iR a1 81 i@ g

2 Tdom # fawad &1 FIRed 3o 51 B9 g

3 e & & I3y & 1 SIed o & e g

4 SR UROTY I 3 & foU I 00 @) S1a%0aal 2l &

Options :

878270211725. 1
878270211726. 2
878270211727.3

878270211728. 4

Question Number : 23 Question Id : 87827053792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

To prevent contamination during setup of PCR reaction, which one of these is not important

1. Pre and post PCR samples should be processed in separate area

2. Equipments used for pre and post PCR steps should be cleaned after every use
3. Reagents used for pre and post PCR steps should be separated

4 Adding smaller amount of Bovine Serum Albumin (BSA) is avoided

Options:

878270211729. 1
878270211730. 2
878270211731.3

878270211732. 4

Question Number : 23 Question Id : 87827053792 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1
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Options :

878270211729. 1
878270211730. 2
878270211731. 3

878270211732. 4

Question Number : 24 Question Id : 87827053793 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following, the Takayama reagent gives positive results

1. Saliva stain
2. Urine stain
3. Blood stain
4 Vaginal stain

Options:

878270211733. 1
878270211734. 2
878270211735. 3

878270211736. 4

Question Number : 24 Question Id : 87827053793 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211733. 1
878270211734.2
878270211735.3

878270211736. 4

Question Number : 25 Question Id : 87827053794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1

Arrange the following in chronological order

(A). Snaphaunce

(B). Flint lock

(C). Match lock

(D). Wheel lock

Choose the correct answer from the options given below:

1. (C), (D), (A), (B)
2. (A), (B), (C), (D)
3. (B), (A), (D), (C)
4.(C), (B), (D), (A).

Options :

878270211737. 1



878270211738. 2
878270211739. 3

878270211740. 4

Question Number : 25 Question Id : 87827053794 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211737. 1
878270211738. 2
878270211739. 3

878270211740. 4

Question Number : 26 Question Id : 87827053795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which among the following does not fall under the category of unnatural sexual offences

1. Sodomy

2. Incest

3. Bestiality

4. Buccal coitus

Options :

878270211741.1
878270211742. 2
878270211743.3
878270211744. 4

Question Number : 26 Question Id : 87827053795 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211741.1
878270211742. 2
878270211743. 3

878270211744. 4

Question Number : 27 Question Id : 87827053796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Arrange the following steps chronologically to be followed at scene of crime (SOC)
(A). Collection of evidences

(B). Securing of SOC

(C). Photography and videography

(D). Packaging of evidences

Choose the correct answer from the options given below:

1.(A), (B), (

(C), (D)
2.(B), (C), (A
B), (A), (
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(C)
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Options :

878270211745. 1
878270211746. 2
878270211747. 3

878270211748. 4

Question Number : 27 Question Id : 87827053796 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



STRTY /T (T, . ) TR AR T I aTel Ffeied Tl @ SIamiie €4 H saiyd H3
(A) el 1 97E

(B). MUY e B 4T

(C). BICHTH 3R FETmD)
(D). T&at &1 9P
rd fGu e fadedi § 4 U SR

jws]

), (C), (D
) (A

), (D)
), (D)

(D), (C
)

0

|
|

Options :

878270211745. 1
878270211746. 2
878270211747.3

878270211748. 4

Question Number : 28 Question Id : 87827053797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Teaching of Forensic Science subject was first started in which of these places:

. Chandigarh
. Sagar, M.P.
- Delhi

. Mumbai

A L

Options:
878270211749. 1

878270211750. 2



878270211751.3

878270211752. 4

Question Number : 28 Question Id : 87827053797 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:
878270211749. 1
878270211750. 2
878270211751. 3

878270211752. 4

Question Number : 29 Question Id : 87827053798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In HPLC when packing material used in column is polar in nature and mobile phase is relatively non polar, it is known as

1. Normal phase

2 Reverse phase
3 Neutral phase

4 Stationary phase

Options :

878270211753. 1



878270211754. 2
878270211755. 3

878270211756. 4

Question Number : 29 Question Id : 87827053798 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211753. 1
878270211754. 2
878270211755. 3

878270211756. 4

Question Number : 30 Question Id : 87827053799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of these is not a fingerprint pattern

1. Whorl
2. Arch
3. Loop
4 Ridge



Options :

878270211757. 1
878270211758. 2
878270211759. 3
878270211760. 4

Question Number : 30 Question Id : 87827053799 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211757. 1
878270211758. 2
878270211759. 3

878270211760. 4

Question Number : 31 Question Id : 87827053800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Which one of these is an another term for invisible fingerprint found at the scene of crime:

1. Latent fingerprint

2. Blood smeared fingerprint
3. Plastic fingerprint

4 Greased fingerprint

Options :

878270211761. 1
878270211762. 2
878270211763. 3

878270211764. 4

Question Number : 31 Question Id : 87827053800 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211761. 1
878270211762. 2
878270211763. 3

878270211764. 4

Question Number : 32 Question Id : 87827053801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

Sodium chloride present in latent fingerprints reacts with which of the following to produce a visible prints:

1. Grey powder
2. Silver nifrate
3. Ninhydrin

4 Super glue

Options :

878270211765. 1
878270211766. 2
878270211767. 3

878270211768. 4

Question Number : 32 Question Id : 87827053801 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211765. 1
878270211766. 2
878270211767.3

878270211768. 4

Question Number : 33 Question Id : 87827053802 Question Type : MCQ Option Shuffling : No

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Starch iodine test can be performed for which of the following body fluid?

1. Blood

2. Unne

3. Saliva

4 Vaginal discharge
Options :
878270211769. 1
878270211770. 2
878270211771. 3

878270211772. 4

Question Number : 33 Question Id : 87827053802 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211769. 1
878270211770. 2
878270211771. 3

878270211772. 4

Question Number : 34 Question Id : 87827053803 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following are examples of natural fibers
{A). Wool

(B). Cotton

(C). Rayon

(D). Mohair

Choose the correct answer from the options given below

1. (A), (B) and (C) only.

2. (A), (B) and (D) only.

3. (A), (C) and (D) only
(

4 (B), (C)and (D) only

Options :

878270211773. 1
878270211774. 2
878270211775.3

878270211776. 4

Question Number : 34 Question Id : 87827053803 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211773. 1
878270211774. 2
878270211775. 3

878270211776. 4

Question Number : 35 Question Id : 87827053804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A deliberate attempt to alter usual hand writing habits in hopes of hidding identity, is known as:

1. Disguise writing
2. Manuscript writing
3. Guided writing

4 Forged writing

Options:
878270211777. 1

878270211778. 2



878270211779. 3

878270211780. 4

Question Number : 35 Question Id : 87827053804 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211777. 1
878270211778. 2
878270211779. 3

878270211780. 4

Question Number : 36 Question Id : 87827053805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The separation of mixture of protein by placing them on a gel coated plate under the influence of an electric potential is:

1. Electrophoresis

2. Polymerase chain reaction
3. Micrography

4 Xray diffraction

Options :

878270211781. 1



878270211782. 2
878270211783. 3

878270211784. 4

Question Number : 36 Question Id : 87827053805 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211781. 1
878270211782. 2
878270211783. 3

878270211784. 4

Question Number : 37 Question Id : 87827053806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Skid marks can be used to determine

- Type of vehicle

. speed of vehicle
. Colour of vehicle
. Height of vehicle

B T o

Options :



878270211785. 1
878270211786. 2
878270211787.3

878270211788. 4

Question Number : 37 Question Id : 87827053806 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211785. 1
878270211786. 2
878270211787. 3

878270211788. 4

Question Number : 38 Question Id : 87827053807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Seminal fluid stain i1s identified by

1. Acid phosphatase test
2. Starch iodine test

3. Teichmaan test

4 Benzedine test

Options :



878270211789. 1
878270211790. 2
878270211791. 3

878270211792. 4

Question Number : 38 Question Id : 87827053807 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211789. 1
878270211790. 2
878270211791. 3

878270211792. 4

Question Number : 39 Question Id : 87827053808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

A writing weakness reflected by shaky and irregular strokes is termed as

. Tremor

- Embellishment
_Slant

- Rhythm

A o

Options :



878270211793. 1
878270211794. 2
878270211795. 3

878270211796. 4

Question Number : 39 Question Id : 87827053808 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211793. 1
878270211794. 2
878270211795. 3

878270211796. 4

Question Number : 40 Question Id : 87827053809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In postmortem drowning cases, diatoms are mainly found in

- Sternum
- Femur

. Liver

- Stomach

A o



Options :

878270211797. 1
878270211798. 2
878270211799. 3
878270211800. 4

Question Number : 40 Question Id : 87827053809 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211797. 1
878270211798. 2
878270211799. 3
878270211800. 4

Question Number : 41 Question Id : 87827053810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The smearing over the writing to make the original undecipherable is known as

_ Restoration
_ Oblitration

. Erasure

. Separation

B A B e

Options :

878270211801. 1
878270211802. 2
878270211803. 3
878270211804. 4

Question Number : 41 Question Id : 87827053810 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211801. 1
878270211802. 2
878270211803. 3

878270211804. 4

Question Number : 42 Question Id : 87827053811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

A photograph made through a compound microscope and may be greatly enlarged image of a small area, is known as

1. Microphotograph
2. Photomicrograph
3. Projection prints
4 Photostats

Options :

878270211805. 1
878270211806. 2
878270211807. 3

878270211808. 4

Question Number : 42 Question Id : 87827053811 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211805. 1
878270211806. 2
878270211807. 3

878270211808. 4

Question Number : 43 Question Id : 87827053812 Question Type : MCQ Option Shuffling : No



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the separation technique is best suited for the analysis of alcohol in blood

1. Pyrolytic GC

2. Low temperature GC
3. Head space GC

4 Capillary GC

Options :

878270211809. 1
878270211810. 2
878270211811.3

878270211812. 4

Question Number : 43 Question Id : 87827053812 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211809. 1
878270211810. 2
878270211811. 3

878270211812. 4



Question Number : 44 Question Id : 87827053813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following characteristics are observed in complete close contact wound from shotgun?
(A). Muzzle impression

(B). Tattooing

(C). Seared zone

(D). Blackened zone

Choose the correct answer from the options given below

1.(A) and (B) only
2. (B)and (D) only
3. (A)and (C) only
4.(C)and (D) only.

Options:

878270211813. 1
878270211814. 2
878270211815. 3

878270211816. 4

Question Number : 44 Question Id : 87827053813 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options :

878270211813. 1
878270211814. 2
878270211815. 3

878270211816. 4

Question Number : 45 Question Id : 87827053814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Interruption in the strokes due to the removal of writing instrument is known as

1. Pen pressure
2. Pen lift

3. Retouching

4 Pen emphasis

Options:
878270211817. 1

878270211818. 2



878270211819. 3

878270211820. 4

Question Number : 45 Question Id : 87827053814 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211817. 1
878270211818. 2
878270211819. 3

878270211820. 4

Question Number : 46 Question Id : 87827053815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The loop pattern flowing towards the thumb of that hand, is known as

1. Ulnar loop

2. Radial loop
3. Double loop
4 Central loop

Options :

878270211821. 1



878270211822. 2
878270211823. 3

878270211824. 4

Question Number : 46 Question Id : 87827053815 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1
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Options:

878270211821. 1
878270211822. 2
878270211823. 3

878270211824. 4

Question Number : 47 Question Id : 87827053816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

AFIS is the abbreviation used for

1. All Finger Index System

2. Automated Fingerprint International Standard
3. Automated Finger Index System

4. Automated Fingerprint Identification System

Options :



878270211825. 1
878270211826. 2
878270211827.3

878270211828. 4

Question Number : 47 Question Id : 87827053816 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U0 35 04, g &1 it Tu g

1. 3d bR Soa ey

2. Jieres Rfle Se-zAd ¥iss

3. Jierdes R o259 fawen

4. Jiermes hRfle seffheyH fen

Options :

878270211825. 1
878270211826. 2
878270211827. 3

878270211828. 4

Question Number : 48 Question Id : 87827053817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In alcohols, which type of hybridization is associated with the carbon atom to which the hydroxyl groups (OH) is connected

1. sp? hybridization
2.sp? hybridization
3.sp>d? hybridization
4 sp hybridization



Options :

878270211829. 1
878270211830. 2
878270211831.3
878270211832. 4

Question Number : 48 Question Id : 87827053817 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hehieq B, T8 UOR &1 G530 99 SIe- WA § Jii a1l & s e aiead 998 (OH) TS

A &

<
=
a1 T

1. sp? GaU
2. sp* TA

3. sp° d2 T
4 sp GhIv

Options :

878270211829. 1
878270211830. 2
878270211831. 3
878270211832.4

Question Number : 49 Question Id : 87827053818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



The book called "Fingerprint” was written by

1. Alphonse Bertillon
2. Francis Galton

3. Karl Latsteiner

4 Edmond Locard

Options :

878270211833. 1
878270211834. 2
878270211835. 3

878270211836. 4

Question Number : 49 Question Id : 87827053818 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

"R 9% e Y gR1 fafed &

1 pig afead
3. BId AR

Options:

878270211833. 1
878270211834. 2
878270211835. 3

878270211836. 4

Question Number : 50 Question Id : 87827053819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0



Correct Marks : 4 Wrong Marks : 1

The scientific name of marking nut is

1. Claviceps pupurea
2. Capsicum annuum
3. Semicarpus anacardium
4 Azadirachta indica

Options :

878270211837. 1
878270211838. 2
878270211839. 3

878270211840. 4

Question Number : 50 Question Id : 87827053819 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Hifdh T e &1 dFHS A1 & -

 liaue ERA]
HItHHH T
Off@ndg Ta@eay
A=l Siem

A

Options :

878270211837. 1
878270211838. 2
878270211839. 3

878270211840. 4

Question Number : 51 Question Id : 87827053820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 4 Wrong Marks : 1

An unknown compound ‘A" has a molecular formula C4Ng When 'A'is treated with excess of Br, a new substance 'B' with
molecular formula C4HgBryis formed. The unknown compound A" when reacted with ammonical silver nitrate solution
forms a white precepitate. The unknown compound A" could be

1. But-1-yne
2. But-2-yne
3 But-1-ene
4 But-2-ene

Options :

878270211841. 1
878270211842. 2
878270211843. 3

878270211844. 4

Question Number : 51 Question Id : 87827053820 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T & TG ‘A 1 VA S C4Ng 51 T A 1 Bry SRS b T STING b o1 3t A1 G CHgBr, & WY
@ 70 Terd B 1 & | 3 AT A 8 I Nk e e o A Sffhfaee el & fl U i 380 el
81 3 T A S W

1 -
2 T2
3. e
4 2

Options:

878270211841. 1
878270211842. 2
878270211843. 3

878270211844. 4



Question Number : 52 Question Id : 87827053821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the refractive index of water at 25°C

1.1.450
2. 1.256
3.1.822
4.1.333

Options:

878270211845. 1
878270211846. 2
878270211847.3
878270211848. 4

Question Number : 52 Question Id : 87827053821 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

25°C T 9fq @I 0ad-id a4 672

1.1.450
21256
3.1.822
4.1.333

Options :
878270211845. 1
878270211846. 2

878270211847.3



878270211848. 4

Question Number : 53 Question Id : 87827053822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following has no charge

1. Proton
2. Neutron
3. Electron
4. Anion

Options :

878270211849. 1
878270211850. 2
878270211851. 3

878270211852. 4

Question Number : 53 Question Id : 87827053822 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

T I PO R &S IR¥T e 8

Options :
878270211849. 1

878270211850. 2



878270211851. 3

878270211852. 4

Question Number : 54 Question Id : 87827053823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The study of hair is known as

. Histology

. Palenoclogy
. Trichology

. Hematology

B T o

Options:

878270211853. 1
878270211854. 2
878270211855. 3

878270211856. 4

Question Number : 54 Question Id : 87827053823 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g1l & AHIT9 @i (A9 9 H SH1 9 8

‘] L E:"'h; \U'E

Gk LY)

2. YaHle

Options :
878270211853. 1

878270211854. 2



878270211855. 3

878270211856. 4

Question Number : 55 Question Id : 87827053824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Following characternistics are peculiar to the ballpen writings
{A). Darker double track within the stroke

(B). Burr stritions

(C). Gooping

(D). Dark flow back at the bottom of the verticle stroke

Choose the correct answer from the options given below

1. (A) and (B) only
2. (B) and (C) only
3. (C)and (D) only.
4 (D) and (A) only

Options:

878270211857. 1
878270211858. 2
878270211859. 3

878270211860. 4

Question Number : 55 Question Id : 87827053824 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



fgfead fagart giqyq oigd & fau fdaem e

(A). 3maTd & HioR e gy
(B). T} 2@
(C). TG

(D). S 3mTd & e e | Uis &1 31X 784 Uae

-t fau U fadedl & ¥ 981 IR -

1.@ad (A) 3R (B)
2 ®add (B) AR (C)
3. ©4d (C) 31 (D)
4. @gd (D) 31X (A)

Options :

878270211857. 1
878270211858. 2
878270211859. 3

878270211860. 4

Question Number : 56 Question Id : 87827053825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The National Forensic DNA Data Base maintained by FEBI is known as

1. AFIS
2. CODIS
3. ISIA
4 DOPA

Options:
878270211861. 1

878270211862. 2



878270211863. 3
878270211864. 4

Question Number : 56 Question Id : 87827053825 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U6 &1 . gRT TEE[ 60 9 3 9d GRS SUaU 2oy & g & U H 9H 9l &

1. TUHIETE
2 Wi
4 33

Options:

878270211861. 1
878270211862. 2
878270211863. 3

878270211864. 4

Question Number : 57 Question Id : 87827053826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Rh factor was discovered by

1. Landsteiner
2. Mendel

3. Hugo

4 Pearson

Options :
878270211865. 1

878270211866. 2



878270211867. 3
878270211868. 4

Question Number : 57 Question Id : 87827053826 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

RUE BRS & @i 19 & gRI DI T3 A

Ll
ﬁ
P

J
]

"_:j

1.
2
%

F=

)
o £
1

Options:

878270211865. 1
878270211866. 2
878270211867. 3

878270211868. 4

Question Number : 58 Question Id : 87827053827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-lI
Instrument Evidence
(A). Microscope (). Indented writing

(B). Comparison Microscopel(ll). Fiber

(C). ESDA (Ill). Fired bullets

(D). TLC (IV). Ink

Choose the correct answer from the options given below:

), (B) - (i), (C) - (I
4. (A) - (1), (B) - (IV), (C) - (1), (D} - (Il

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (II1)
2. (A)- (1), (B) - (11}, (C)-(In), (D) - (IV)
3. (A) - (Il (D) - (IV)

( )

Options :

878270211869. 1
878270211870. 2
878270211871.3

878270211872. 4

Question Number : 58 Question Id : 87827053827 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | ' 9y TGl 1| &1 e &
-l LiciAl

FUBIT &0
(A). ggFeRl (). e oA
(B). O =M (1). =T

(C). STTSIT  |(INN). SAT T wiferat
(D). ThaerHt (V). STat
- feu e famedl 5 § 981 o) 9

1. (A) - (1), (B) - (1), (C) - (IV), (D) - (ll1)
2. (A) - (1), (B) - (l1), (C)- (1), (D) - (IV})
3. (A) - (11}, (B) - (1), (C) - (1, (D) - (V)
4. (A) - (ll), (B) - (IV), (C) - (1}, (D) - (1)

Options:

878270211869. 1
878270211870. 2
878270211871.3

878270211872. 4

Question Number : 59 Question Id : 87827053828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following test is based on hemoglobin activity

1. Kastle Meyer test
2. Silver nitrate
3. Choline test
4 Starch iodine test

Options :
878270211873. 1
878270211874. 2

878270211875. 3



878270211876. 4

Question Number : 59 Question Id : 87827053828 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

g # 9 o1 91 wdier gHieifaa of nfafafd w snufa &

2 TR igee
3 DIci- Wi
4. T SIS TI&0

Options :

878270211873. 1
878270211874. 2
878270211875. 3

878270211876. 4

Question Number : 60 Question Id : 87827053829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

In which of the following, the recombinant DNA relies on to cut DNA into fragments

1. Dimers
2. DNTPs
3. Primers
4. Restriction Enzyme

Options :
878270211877. 1

878270211878. 2



878270211879. 3
878270211880. 4

Question Number : 60 Question Id : 87827053829 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrofeRed § 9 foud, fuee ST, ST & Gosi | fqueH o il R axdr e
1. fgdi®

2. SiEdt

3 U™

4. Yidse TgH

Options:

878270211877. 1
878270211878. 2
878270211879. 3

878270211880. 4

Question Number : 61 Question Id : 87827053830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The instrument that automates the rapid and precise temperature changes required to copy a DNA strand is:

1. Centrifuge

2. Thermal cycler
3. Incubator

4 Vortex

Options :
878270211881. 1

878270211882. 2



878270211883. 3
878270211884. 4

Question Number : 61 Question Id : 87827053830 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

ST T  WRTeRU] & oY Sfa¥e® @i U4 Y6 Qe UNGGH! 1 i e aiel JUanll

1 UEd
2. dI0g I
3. WD

4 yfir

Options:

878270211881. 1
878270211882. 2
878270211883. 3

878270211884. 4

Question Number : 62 Question Id : 87827053831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l List-ll

Post mortem staining Cause of Death

(A). Cherry red (1). Potassium chlorate poisoning
(B). Bright Pink (I1). Carbon monoxide poisoning

(C). Dark brown or yellow|(lll). Phosphorous poisoning

(D). Chocolate (IV). Refrigerated body

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1)

4. (A) - (I, (B) - (IV), (C) - (llr), (D) - (1)
Options :

878270211885. 1
878270211886. 2
878270211887. 3
878270211888. 4

Question Number : 62 Question Id : 87827053831 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | ' 9y TGl 1| &1 e &

-l LAl

(A). T T (1). GicRrd FaNe f[quam
(B). THGIE ETE! |(11). BT FFIHTGSS faumEdar
(C). TR HT A1 e\l BB R fauradan

(D). Siweie (Iv). FEifod 2R
TRy Aea § I TSR

1..(A) - (1), (B) - (IV), (C) - (1), (D) - (1)
2. (A) - (1), (B) - (IlT), (C) - (1), (D) - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (111}
4. (A) - (1), (B) - (IV), (C) - (1), (D) - (1)

Options:

878270211885. 1
878270211886. 2
878270211887. 3

878270211888. 4

Question Number : 63 Question Id : 87827053832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The chemical technique utilized for development of latent print on non porous surfaces is

1. Takayama test

2. Elution technique
3. Super glue fuming
4 Walker test

Options :
878270211889. 1
878270211890. 2

878270211891. 3



878270211892. 4

Question Number : 63 Question Id : 87827053832 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

3O Tde! W fodd 91U @I [adihd S o 8 SUN &1 o dlcll I - ddb1® &

2 A& da-id
3 R oY YA
4. TIB W0

Options :

878270211889. 1
878270211890. 2
878270211891. 3

878270211892. 4

Question Number : 64 Question Id : 87827053833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the followings:

List- List-lI

(I). may result from influences as the writing system studied

(A). If two writings are by a single person -

B). Personal peculiarities, many of them in inconspicuous , =
6) : i ; (I1). constitute the back bone of an identification

details
(C). Class characteristics (I1). then no fundamental differences should exist
(D). Individual characteristic (IV). distinguish the writings of two persons

Choose the correct answer from the options given below:

1. (A)-(V), (B)- (1), (C)- ), (D) -

2.(A)-(1),(B)- tr), (C)- (), (D) - V)

3. (A)- (1), B) -I1), (C)- (IV), (D) - I

4.(A)- (I, B)- (IV), (C)- 1), (D) - (1)
Options :

878270211893. 1
878270211894. 2
878270211895. 3

878270211896. 4

Question Number : 64 Question Id : 87827053833 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



T | S WY G 1| 1 e e

- gt

(A). 31 21 T U B ekt G g U E (). e 1 T T FUTEH 1, 26 Fal 5 QRO ) webel 3
(). wafara fafipent, S @ o areap forae o B)(1). foret ugam & qwaw & e v &

(C). T-fadad (). T I HTURYT R Te SURUG 5H TEY

(D). TafaTe fasmam (V) & s & oE B AR B

Options:

878270211893. 1
878270211894. 2
878270211895. 3

878270211896. 4

Question Number : 65 Question Id : 87827053834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The ratio of the speed of light in a vaccum to its speed in a given substance is

1. Reflection index
2. Medullary index
3. Refractive index
4 Reflux index

Options :

878270211897. 1
878270211898. 2
878270211899. 3

878270211900. 4



Question Number : 65 Question Id : 87827053834 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U Hdid H o1 &1 71fd SR bl uard & sadt 1fd &1 3H-uid ©:

1. Rad®
2 Ailg gadid
4. RIH gadid

Options:

878270211897. 1
878270211898. 2
878270211899. 3

878270211900. 4

Question Number : 66 Question Id : 87827053835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-ll

Wound Causative weapon
(A). Chop wound (). Needle

(B). Punctured wound|(ll). Knife

(C). Bruises (111). Axe

(D). Incised (IV). whip

Choose the correct answer from the options given below:

1.(A) - (1), (B) - (1), (C) - (11}, (D) - (IV
2. (A)- (1), (B) - (1), (C) - (11}, (D) - (IV
3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (IN
4 (A) - (1), (B) - (I, (C) - (1IV), (D) - (Nl

i gt mg® g

Options :

878270211901. 1
878270211902. 2
878270211903. 3

878270211904. 4

Question Number : 66 Question Id : 87827053835 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | ' 9y TGl 1| &1 e &

-l LAl

(A). BEHIE  |(1). G5

B). Beaam | =%

(C). Eig (1l). Fegrat
(D). TRT AT gS1|(1V). TIEE
T U T et § @ W SR

1. (A) - (1), (B) - (11}, (C) - {|||:' (D) - (IV)
2 (A)- (1), (B) - |||} (C)- (), (D) - (IV)
3. (A) - (1), (B) - (II), (C) - (IV), (D) - (Ill)
4 (A) - (1N, (B) - {|} (C) - (IV), (D) - (Il)

Options:

878270211901. 1
878270211902. 2
878270211903. 3

878270211904. 4

Question Number : 67 Question Id : 87827053836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

The type of protein that acts as catalyst for certain specific reactions is known as

1. Enzyme
2. Lactose
3. Cellulose
4 Fructose

Options :
878270211905. 1
878270211906. 2

878270211907. 3



878270211908. 4

Question Number : 67 Question Id : 87827053836 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e @1 YR o 3@ fafkig sl & Ry SoR® & w0 & &1 & 5, 9 & 0§ a1 1 8

2 dae

Options :

878270211905. 1
878270211906. 2
878270211907. 3
878270211908. 4

Question Number : 68 Question Id : 87827053837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-| List-lI

Phenotype|Antibodies
(A). O (1). Anti-A

(B). A (I1). None

(C).B  |(l). Anti-B

(D). AB  |(IV). Anti-A and Anti-B

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (111}, (D) - (IV})

2. (A) - (1), (B) - (11}, (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (I1), (C) - (IV), (D) - (1)

4 (A) - (IV), (B) - (11}, (C) - (1), (D) - (11}
Options :

8782702119009. 1
878270211910. 2
878270211911. 3

878270211912. 4

Question Number : 68 Question Id : 87827053837 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | ' 9y TGl 1| &1 e &

FqE-l [

U Wit

(A). O (). wlT-A

(B).A |(Il). IS T8l

(C).B |(m). wid-B

(D). AB  |(IV). Wic-A 3% Hfe-B

- feu e famedl 5 § 981 o) I

1. (A) - (1), (B) - (IN), (C) - (111}, (D} - (IV)
2. (A) - (), (B) - (IlN), (C) - (I, (D} - (IV)
3. (A) - (), (B) - (1), (C) - (IV), (D) - (1lT)
4. (A) - (IV), (B) - (1), (C) - (1), (D) - (1)

Options:

878270211909. 1
878270211910. 2
878270211911.3

878270211912. 4

Question Number : 69 Question Id : 87827053838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-ll

Branches

Study area

(A). Podogram

(1). Foot Prints

(B).Cheiloscopy

(I1). Fingerprints

(C). Palatoscopy

(111}. Lip print

(D). Dactylography

(V). Palatal Rugae

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)

2. (A) - (1), (B) - (IlT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (llT), (C} - (IV), (D) - (I1)

4. (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270211913. 1
878270211914. 2
878270211915. 3

878270211916. 4

Question Number : 69 Question Id : 87827053838 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | ' 9y TGl 1| &1 e &
-l -l

TN HEOg &5
(A). IIEEHE  |(1). IE-8™
(B). Sl (). S-S
(C). UTERBHT (1), E-BTY
(D). SfFeammE|(1v). Taae T

-d fu TTe fadedl § © 981 3w I

1. (A) - (1), (B) - (11}, (C) - {IIIj (D} - (IV)

2 (A)-(1),(B) - III} (C)- (I, (D) - (IV)

3. (A) - (1), (B) - (11}, (C) - (IV}, (D) - (11

4_(A) - (111, (B) - (IV), (C) - (1), (D) - (11
Options:

878270211913. 1
878270211914. 2
878270211915. 3
878270211916. 4

Question Number : 70 Question Id : 87827053839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tyre marks are created when the tyre rotates while simultaneously turning

1. Skid marks

2. Tread marks

3. Acceleration marks
4 Yaw marks

Options :
878270211917. 1
878270211918. 2

878270211919. 3



878270211920. 4

Question Number : 70 Question Id : 87827053839 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

e 8 3 PF € R & 9 99 §9d § 99 TR U 3 999 W 9Hd §U IUF adl 6

1 Fps &
2. PacH & MR
4 Togad & e

Options :

878270211917. 1
878270211918. 2
878270211919. 3
878270211920. 4

Question Number : 71 Question Id : 87827053840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

What is the fullform of FIR?

. First Investigation Report

-

- First Information Representor
. First Information Report

—

. First Information Request

B A o

Options :
878270211921. 1
878270211922. 2

878270211923. 3



878270211924. 4

Question Number : 71 Question Id : 87827053840 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

U 313 3R BT 40l &Y & 57

1. e 3O e
2 e SHABIHTH {Uder
3. B SABHEH U

4 B SABIHTH N

Options :

878270211921. 1
878270211922. 2
878270211923. 3
878270211924. 4

Question Number : 72 Question Id : 87827053841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following tyre tread characteristic does not belong to the tyre fread nomenclature?

1. Sipes

2. Furls

3. Grooves
4 Ribs

Options :
878270211925. 1

878270211926. 2



878270211927. 3

878270211928. 4

Question Number : 72 Question Id : 87827053841 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

fFrafafad o 9 o1 4 TR PacH f9Xudl TR $aa- THOIT ¥ Hefdd T2 82

1. 95
2 fegeq
3. @i

4. qgfeal

Options:

878270211925. 1
878270211926. 2
878270211927.3

878270211928. 4

Question Number : 73 Question Id : 87827053842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

Which of the following has highest alcohol percentage

1. Wine
2. Rum
3. Champagne
4 Beer

Options :

878270211929. 1



878270211930. 2
878270211931. 3

878270211932. 4

Question Number : 73 Question Id : 87827053842 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1

TafafEa d ° 5ad srcpied o1 ufawa 9e9d #fis o

1. asd
2 I

3. BEH
4§

Options:

878270211929. 1
878270211930. 2
878270211931. 3

878270211932. 4

Question Number : 74 Question Id : 87827053843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match List-l with List-ll

List-l

List-lI

Scientific name

Vegetable poison

(A). Ricinus communis

(). Jamalgota

(B). Croton tiglium

(I1). Dhobis nut

(C). Semecarpus anacardium

(I11). Lal mirch

(D). Capsicum annuum

(IV). Arandi

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (IN), (C) - (1IT),

2. (A) - (1), (B) - (I1T), (C}- (1)

3. (A) - (1), (B) - (IN), (C) - (IV),

4. (A)-(IV), (B) - (1), (C) - (In),
Options :

878270211933. 1
878270211934. 2
878270211935. 3
878270211936. 4

(
A
(
(

D
D
D
D

- (IV
- (IV
- (N1

)
)
)
) - (N1

)
)
)
)

Question Number : 74 Question Id : 87827053843 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Tt | ' 9y TGl 1| &1 e &

-l LAl
CRIIECAIt LESIREE]

). REmsqe 1) F8eE

(B). Hic ergfean (Il). enf&E e

(C). TeftpTdT T SaH| (). T fig

(D). Eairra oA (IV). 3Lt
AT e 7 A W IR O
1. (A) - (1), (B) - (1), (C) - (I, (D) - (IV)
2 (A)- (1), (B) - |||} (C)- (11, (D) - (IV)
3. (A) - (1), (B) - (1), (C) - (IV), (D) - (111}
4 (A) - (IV), {B}-{j_{ )~ (I1), (D) - (111}

Options:

878270211933. 1
878270211934. 2
878270211935. 3

878270211936. 4

Question Number : 75 Question Id : 87827053844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Match the following with their active principle component

List-| List-l

Plant Active Principle
(A). Oleander| (). Nerin

(B). Betel Nut|(Il). Nicotine

(C). Aconite |(lIl). Arecoline

(D). Tobacco |(IV). Psedaconitne

Choose the correct answer from the options given below:

1. (A) - (1), (B) - (1), (C) - (111}, (D) - (IV)

2. (A) - (1), (B) - (IlT), (C} - (I, (D) - (IV)

3. (A) - (1), (B) - (llT), (C} - (IV), (D) - (I1)

4 (A) - (1), (B) - (IV), (C) - (1), (D) - (11}
Options :

878270211937. 1
878270211938. 2
878270211939. 3

878270211940. 4

Question Number : 75 Question Id : 87827053844 Question Type : MCQ Option Shuffling : No
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 4 Wrong Marks : 1



Fafaiad &1 3 fhy T 9ca! & 91y fieH &<

-l Giial
g Tfehg T
(A). eS|, 3=

(B). Fiew 9¢ |(I). FwifcT
(C). TR MSE (). T
(D). d&1E  |(IV). SSTHIHeRA

-d fu TTe fadedl § 9 981 SR g

1. (A) - (1), (B) - (I), (C) - (1), (D} - (IV)

2. (A) - (1), (B) - (IlT), (C) - (11}, (D) - (IV)

3. (A) - (1), (B) - (IlT), (C) - (IV), (D) - (II)

4. (A) - (N, (B) - (IV), (C) - (1), (D) - (I1)
Options :

878270211937. 1
878270211938. 2
878270211939. 3

878270211940. 4



